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1D pull distribution
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Std Dev
Underflow

Overflow
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X2/ ndf
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Constant
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Sigma

|

...I...I...I..J .LI...I...I...

0/53 h
3.042

0

X2 / ndf

p

diff_bpm16Y (nm)

____________.._lTTT.l_lTTI....TTIn_lIuIn_..
o o o o [S)
< ® Y =

o o
- N

_______
o
™




diff_bpm16Y RMS (um)

p0'vVEE
pECVEE
pCevee
T CrEE
p0CreE
p0'8cEE
p0O°Leee
pCveee
T V2EE
p0'veee
poeeee
p6Cceee
paceee
p/Lceee
poceee
pGceee
p'ccee
pEceee
pcreeee
pT ccee
pOceee
p6°TCEE
p8TCEE
p /' Teee
pO'TCEE
pSTCeE
p ' TCEE
pETCEE
pcTeee
T TCEE
pO'TeeE
poocee
pS0ceE
p'0CEE
pE0ceE
pcocee
pT 0cEE
pO'0OceE
pS6TEE
p'6TEE
pE6TEE
pC6TEE
pT61EE
pO'6IEE
pOvTEE
pTTIEE
pO'TTEE
T 0TEE
pO0TEE
p £'80€E
p c'80€E
p1'80EE
p0'80€EE
p 0°'S0€EE

Qe e e 8 e e dddddddddddddddddddddddddddddddddddidddddddd

(wn) SNY

0



200

@ © o o © o o 1)
s o g 9 o 9 ]
e s & 4 3 \.
< 1 ~ @ o -
S @ o 9 o —
=] o [ d -
z = ]
3 £ & g o E
5 S % 0§ 2 £ =
c ] = c > S k=J
cl|l= & 5 & o (2] B
=
=1 —]
o -
= ]
2 ]
© -
=] -
o —]
o i
— =
P TN T T AN U T T T T S AN T S T T [N T T T T N ST T N ST S A
~ © 0 < ™ ~ — =)
[ ——i —:
—_—— —_
™M © P
10 1o . T
—~ —e— —1
B (e 0] —— —
— —.
D + e
3 ()] —— —
Q —— -
(¢p] —— -
o —— -
—— —_
—— —
—— |
flm L o— —
c —— —:
- —e—h —
NP =} [*— I
<o —— T
—— -1
—— —+
\m) —— |.
—— —
S =¥ .
< —— —1
N —— 0
— — T
m —— -
g " .
_ —— -
= —— —
= —— —
© L o— £
—— —
—— |
—&— -1
——i -
—— —
—— -
—— —_
—— —
—— |
—— —t
—— —
—— —
—— b
—— —
— — .
—— |
—— —
] L1 1




diff_bpm12X RMS (um)

(wn) sSNY

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



@ ~ o o < o © ©
S g > N N 2
: £ i3 08 3
F ER A ]
8 o 2 S 1
5 R s i
8 5 S —]
7 i ]
> m 3 - € -1
o £ 2 k< 8 © —
clg & &8 3 &I § E
o s B 5 S %« 8 2 &
5 =
2
w T ]
S ﬁ =
— T -
= =
o |
(@)
i
I B | e ey by by 7
5] N E] 3 © o~ [S)
[ —et+——
Py
-~ O ]
. ———— —
S © —
O.+_ —_—
AN —_—
& o —.
< —_— e
— —————
AU. ———
—————
|
—
©
c
~~
~ O
< Qo o
€
———————i
=
N—r
Y
N
—
Q.
b_ e
£
©
—_———
——
—_———
—
__________ __ L1111l iy iy
o o o o Q o LO ANLO T LOO LD L0
& = ° i S o o o'd



diff_bpm12Y RMS (um)

© ) [T 0 < 7o) ™
To) < ™

(wn) SNY

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



o o ) ) ) 0 @ @
s & 8 8
o~ o
4 s 0% £ 8 @
=} [} ] + + + .
E g g ¢ ]
5 1 el 1
° R3S e
: £ 3 5 G .
= & 3 £ 2 3 s g — <
c ] = B g ~ 5 o} i=) N
o s » S ¢} x 0 = o E
= m
=} — N
2 R
= Z]
ks s ———
2 o
© =
= .
a =
(@) n
i .
7
—¢
PRI TR [N TR TR TR T [N T T T W | ___________|om
o o o o o
e} ™ N —
[
™M
O N
~ o
O
+
o
Y—
©
c
~
N O
< Q|
—_——
€
=
~
X
—
—
Q.
b_ ¢
£
©
—
_________I.I_I.I.I.IT.lI.I.I.I_I.I________
o o o o [=} o
n o n [Te) o
— — [ 4.




diff_bpm11X RMS (um)

p0'vVEE
pECVEE
pCevee
T CrEE
p0CreE
p0'8cEE
p0O°Leee
pCveee
T V2EE
p0'veee
poeeee
p6Cceee
paceee
p/Lceee
poceee
pGceee
p'ccee
pEceee
pcreeee
pT ccee
pOceee
p6°TCEE
p8TCEE
p /' Teee
pO'TCEE
pSTCeE
p ' TCEE
pETCEE
pcTeee
T TCEE
pO'TeeE
poocee
pS0ceE
p'0CEE
pE0ceE
pcocee
pT 0cEE
pO'0OceE
pS6TEE
p'6TEE
pE6TEE
pC6TEE
pT61EE
pO'6IEE
pOvTEE
pTTIEE
pO'TTEE
T 0TEE
pO0TEE
p £'80€E
p c'80€E
p1'80EE
p0'80€EE
p 0°'S0€EE

Qe e e 8 e e dddddddddddddddddddddddddddddddddddidddddddd

(wn) SNY

0



o o©o o©o o o v o o
s & 8 8
o
oo 808 2 9
o o L] + + ]
E g g ¢ ]
. ) 1
° R3S -
- & 3 _ = ]
@ T 2 B & © —
MDE”nmmm
cl|ld = B ¢ 5+ & & » ]
o|l= & 5 6 % O = & E
= a
5 —
2 R
= =
=
R ——
o o
= .
o —
(@) n
i .
PSR TR [N TR TN TN TR [N TN TN TN N NN SN WO SO S | | L
o o o [) o o
[re) < ™ N —
[
™M 10
n O
—~m
o
+
o
Y—
©
c
~
N O
< Q|
—_——
€
=
N—r
Vl
—
—
Q.
b_ ¢
£
©
—




diff_bpm11lY RMS (um)

p0'vVEE
pECVEE
pCevee
T CrEE
p0CreE
p0'8cEE
p0O°Leee
pCveee
T V2EE
p0'veee
poeeee
p6Cceee
paceee
p/Lceee
poceee
pGceee
p'ccee
pEceee
pcreeee
pT ccee
pOceee
p6°TCEE
p8TCEE
p /' Teee
pO'TCEE
pSTCeE
p ' TCEE
pETCEE
pcTeee
T TCEE
pO'TeeE
poocee
pS0ceE
p'0CEE
pE0ceE
pcocee
pT 0cEE
pO'0OceE
pS6TEE
p'6TEE
pE6TEE
pC6TEE
pT61EE
pO'6IEE
pOvTEE
pTTIEE
pO'TTEE
T 0TEE
pO0TEE
p £'80€E
p c'80€E
p1'80EE
p0'80€EE
p 0°'S0€EE

Qe e e 8 e e dddddddddddddddddddddddddddddddddddidddddddd

(wn) SNY

0



1D pull distribution

-0.02697 + 0.1487

Mean

1.093 + 0.1051

Std Dev

Underflow

Overflow

8.216/7

X2 / ndf

11.59 +2.47

Constant

-0.3152 + 0.1382

Mean

0.8537 + 0.1452

Sigma

|

Lt

64.5/53 R
+1131

0.171
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g_bpm4eX RMS (ppm)

corr_us_av
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g_bpm4eY RMS (ppm)

corr_us_av
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corr_us_avg_bpm4aX (ppb) 1D pull distribution
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528.1/53
224.2 + 185.2
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1D pull distribution

g_bpm8Y (ppb)

corr_us_av

Y @ o o 0 o~ ~ o
o © - o = @
g & 2 < 2 2
S ] 3 #Hoo9S 5 ©
S S b © S 5 i
+ + 2 +H Py n
2 0 9 © &
g g g & .
g 3 8§ =
? ? ]
: 2 3 s & ]
< a g £ B % s g — <«
3 = E 2 N 5 33 o ]
= 2] =} ] < o = @ ]
—q
>,
1] -
I
= I — ©
-
________________________________________________lom
< N o © © < N o © © < o~ o
~ ~ « — = — — —
[ —— =]
9 —
M N P ]
n o — & _
~ —_—— —
— — —
N~ — —
o +l
— o— —
17 —— —
[9p) — o ]
o el 7
© S —
| —_—— —
—_—— —
—_— —
Y—
—_— —
=] R —. ]
e
—_— —
-~ ]
NP =} P n
<
—_— —
L1111l 1111111

DO HOWn T
210n_U

-100
-200



g_bpm8Y RMS (ppm)

corr_us_av

___________________
© © < N o
— — - — —

(wdd) sny

[c0] (o] < N



0000

15000

10000

5000

5000

10000

corr_us_dd_bpm4eX (ppb)
X2 / ndf 114.3/53

pO 165.3 + 396.9

{

%TH
ik

1D pull distribution

Mean  -0.009857 + 0.198
9 I Std Dev 1.455 + 0.14

: Underflow 0
8_

u Overflow 0
7 o X2 I ndf 5.209/9

» Constant 6.957 + 1,566
6_

L Mean 0.09053 + 0.33658
5+ Sigma 1.653 +0.422
4
3_

2 —

1+

0'||| o b b lali | Ll
-8 - -4 -2 0 2 4 6 8




pm4eX RMS (ppm)

corr_us dd b

ettt ettt

____
o
o
©

(wdd) sy

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



corr_us_dd_bpm4eY (ppb)

800

600

400

200

-200

-400

-600

-800

1]

X2 / ndf
p0

8.771/53
—-1.001+ 49.88

T[T

25

20

15

10

1D pull distribution

Mean 0.008348 + 0.05483

= Std Dev 0.4029 + 0.03877
: .J’ Underflow 0
: Overflow 0
__ X2 I ndf 1.015/2
I Constant 31.92 548
I Mean 0.02538 + 0.04889
- Sigma 0.3536 + 0.0366
0-|||||||||||||_|||||Ll||||||||||||
-8 -6 -4 -2 0 2 4 6 8




pm4eY RMS (ppm)

corr_us dd b

NN
o o
© Ty}

(wdd) sny




+0.2702
+0.1911

13.72/12
4.957 + 1.477
1.814 £ 0.576

1.986
-0.3212 £ 0.3417

-0.04295

Mean

Std Dev
Underflow
Overflow
X2 / ndf
Constant
Mean
Sigma

1D pull distribution

10

27.52

+

213 /53 R

X2 / ndf
0 8.247

p

pm4aX (ppb)

corr_us_dd b

1500
1000

543210&4%




pm4aX RMS (ppm)

corr_us dd b

_______
O O
© ~

(wdd) sny

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



1D pull distribution

X2 / ndf

pm4aY (ppb)

corr_us_dd b

- ~ =] S < < © ~
® t
SO 5 © 8 3
s 8 g 4 S5 ©° ©
S o - o W + .
+ + ™ ~ N -
& b= b=l ™ =
(3] © o :
b © =1 o — ©
= L o -
n_v o [
s & 3 . & a
s o s T B2 B g g — <
& k=] [ = 2 I i
[} = c > ~ o (3] i=4
= 7] =] [¢] < o = [2) (=
— ~
—— ! ||O
. i
||n._/_
______________________________lom
[=) o) o 1) o [T} o
3] « « — —
_ i
M O
O 00
~m
MPO
_/.+_
— O
(e 0]
(e 0]
i
o
o
—_— .
—_——
_______._l_%_..______________
o o

1500 —
1000
500

=3
0

1000



pm4aY RMS (ppm)

corr_us dd b

o o o
o [¢0) ©
-

(wdd) sy

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



corr_us_dd_bpm1X (ppb) 1D pull distribution
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1D pull distribution

pm12X (ppb)
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1D pull distribution

pm12Y (ppb)
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1D pull distribution
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corr_usr_bpm4aX (ppb) 1D pull distribution
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corr_usr_bpmd4aY (ppb) 1D pull distribution
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corr_usr_bpm1X (ppb) 1D pull distribution
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corr_usr_bpm12X (ppb) 1D pull distribution
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